
Soustraction Avec Un Zéro (B)Calculez la différence.
30 20 60 10- 18 - 16 - 12 - 7
10 300 800 900- 3 - 166 - 444 - 209
70 30 70 60- 36 - 14 - 64 - 33

800 300 600 10- 195 - 81 - 100 - 5
70 200 800 600- 3 - 157 - 60 - 10
40 400 900 200- 26 - 122 - 474 - 103
20 50 600 500- 16 - 35 - 181 - 4

Mathslibres.com



Soustraction Avec Un Zéro (B) RéponsesCalculez la différence.
30 20 60 10- 18 - 16 - 12 - 712 4 48 310 300 800 900- 3 - 166 - 444 - 2097 134 356 69170 30 70 60- 36 - 14 - 64 - 3334 16 6 27800 300 600 10- 195 - 81 - 100 - 5605 219 500 570 200 800 600- 3 - 157 - 60 - 1067 43 740 59040 400 900 200- 26 - 122 - 474 - 10314 278 426 9720 50 600 500- 16 - 35 - 181 - 44 15 419 496

Mathslibres.com


